35. ODD MAN OUT AND SERIES

EXERCISE 35

Liirections : Find the odd man sut .

L

2

0.

11

13.

16.

18.

1T.

4, 5, T. 12, 17, 19

(@] 19 by 17 irk 13 (dl 12

10, 14, 14, 18, 21, 24, 26

fal 26 (b 24 e 21 (e} 18

3, O, B, 11, 14, 17, 21

() 21 i 17 (e 14 () &

1, 4, 8, 18, 23, 25 3§

fad o ik 23 () 25 (d) 36

8, 9 15, 21, 24, 28, 30

la) 28 (b 21 [l 24 id a0

41, 43, 47, 53, 61, T1, 73, 81

(a2l G1 (& 71 (eh T (gl 81

16, 25, 36, 72, 144, 196, 225

{a) 98 (b} T2 (el 1596 (dl 225

w, 8, 45, &4, 60, 75, 80

{al 10 (b 45 [h 54 {d 76

1, 4, 8, 16, 20, 35, 49

ta) 1 ] i 20 (] 49

B, 27, B4, 100, 125, 218, 343

fa) 27 [ 100 icl 125 (e 243

1, 5, 14, 30, 50, 55 9]

Lal & b 50 (el 55 [l 91

385, 462, 5T2, 394, 427, 671, 264

[a) IRN (b)) 427 {c} BT1 (d) 64

835, T34, 642, 751, 853, 981, 530

&) Tal (b 853 (cl SR (ah 53T

431, 482, 551, 263, 383, M2 111

(al 263 (bl A&z (el 240 id 111

2 &, 10, 17, 26, 37, 50. 64

(2] 50 b 26 o 37 (ot G4

19, 28, 30 62, &7 B4, 102

[a) 52 (B} 102 (el B4 id] 87

254, 1348, 352, 450, Jd24, 631, 244

{a) 138 (b 324 Lol 352 i) 631
18. 2, 5, 10, 50, 500, 5000

(@) 0 (b} 5 Lel 10 (e GO0

4, §, 7, 10, 14, 18, 25, 32

(&) 7 (b 14 (c} 18 [l 3%

643



BSO Quantitative Aptituda

Directions : Find out the wrong number in each sequence :
20. 22, 38, 66, 99, 121, 279, 584

(a) 33 k121 (&) 278 {dh 5B4
21. 38, 54, 18, 27, 9,185, 4.5

{a) 4.5 (b 1B.5 () G54 (d 18
29 BaZ, 605, 538, 611, &34, 617, 600

(@) B34 (bl 6511 () 605 [d) &00
99 4GOS0, BR40, 384, 48, 24, 2, 1

(a) 1 (b 2 (el 24 [ 384
24, 1, B, Z7, 64, 124, 216, 343

(a) B (b 27 (ch G4 id 124
a6. 5, 16, 6, 15, 7, 16, 9

(&} 9 (b T ict @ (di Mone of these
6. 6, 13, 18, 25, 30, 37, 40

{a) 25 (h) 30 el 37 {d) 40
27. 68, 72, 90, 110, 132, 150

(&) T2 {b) 110 (c) 132 (d)y 150
28. B, 13, 21, 32, 47, 63, &3

[a) 47 (b 63 {e) 32 (d) B3
o0, 25 86, 49, 81, 121, 168, 226

(@) 36 (b 49 (eh 121 (dl 169
a0. 1.2, 6, 15, 31, 56, 91

(a) A1 (b 81 (¢t 56 (d) 15
gl 52, 51, 4B, 43, 34, 17, 16

{a) 27 (b 34 () 43 [d) 4B
32. 105, 85, 60, 30, 0, — 45, — 90

(&) O (b BS () = 45 {d)y &0
3. 4.6, 8 5 10,11, 12

{a) 10 (b 11 (c) 12 (d) 9
4. 125, 127, 130, 135, 142, 153, 166

(2) 130 (b 142 {g) 163 {d) 165
85, 16, 36, 64, 81, 100, 144, 150

(&) 81 (b 100 fch 180 (d) 86
86, 125, 123, 120, 115, 108, 100, 84

(a) 123 (h 1156 {g) 100 (d) B4
87. 3, 10, 1, 36, 56, 70, 106

(a) 105G by 7O (g} 38 id) BB
as, 4, 9, 19, 38, TR, 160, 319

{a) 318 (&) 160 (ch T8 id) 39
86. 10, 14, 28, 32, &4, 68, 132

im) 32 (b 68 (g1 132 [d) 2B

40, 8, 27, 125, 343, 1331
{a) 1831 (b)) 343 (e 125 {d) Mone of these



Odd Man Out and Seres

Directions : Insert the missing number :
"'1 "Ir-‘En lﬁr_E:E- E""p ‘l ]

(el 128 {b} - 128 el 192 (d) = 192
42. 5, 10, 13. 26, 29, 54, A1, ...}
la) 122 (hl &4 (&) 1L25 (d) 128
43, 1. 4. 9, 18, 25, 38, 48, (.,..)
E T {b) &6 (el G4 (d) 81
4. 1, 8, 27, &4, 125 218, (...)
(m)} 354 (bl 3443 {c} 352 () 245
45. 11, 13, 17, 19, 23, 29, 31, 37, 41, (...}
{a) 43 (k) 4T {€) 53 {dh 51
46. 16, 33, 66, 131, 261, {....)
(=) 523 (B 521 (ch 813 (d 721
47, 3, 7.6, 5 9 3,12 1. 15, (...}
(&) 18 i 138 {gd = 1 ) 3
48. 15, 31, 63, 127, 255, (...}
{a) 513 bk 511 (&) 517 (dy 523
48 2, 6 12, 20, 30, 42 58 (..}
(al B0 b} 64 (ch T2 {dl TO
50. 8 24, 12, 36, 18, 54, ()
(&) 27 i 108 e GE (dl T2
Bl. 165, 195, 255 285, 345 ()
fa) 375 (b 420 (e} 435 () J50
52. 7. 26, 63, 124, 215, 342, (...
[a) 481 (b 511 (g} 391 (el 421
83. 2,4, 12, 48, 240, {.....)
(o} Q&0 (hi 1440 (el 1080 {ah 1620
54. B, 7, 11, 12, 14, 17, 17, 22 (...
{a) 27 (b} 20 o 22 iy 24
56. 10, 5, 13, 10, 16, 20, 18, (...}
(a) 22 (&) 40 (c) 38 (a) 23
B6. 1, 2 4,8, 16, 32, 84, (....), 256
{a) 148 {b) 128 ich 154 ) 164
5§7. T1, 76, 69, 74, 87, T2 (.)
tay 77 b 65 Lch B idl Té
B8. 9 12, 11, 14, 13, (.....), 15
(a) 12 () 16 e 10 (dy 17
69. Complete the series : 2, 5, 9, 18, 37, ...
{a) 76 [B) T4 () 75 {d] Mone of thesse
60. Find the wrong number in the series : 3, 8, 15, 24, 34, 48, 63
{ak 16 (b 24 {ch 34 (d) 48 (¢ G
61. Find the wrong number in the series : 2, 8, 28, 65, 126, 218, 344
(&) 2 (b 28 () 65 (d) 126 (el 218
62. Find out the wrong number in the series : G, 15, 30, 135, 4046, 1215, 2645
{a) 3645 iby 1215 Leh 4056 (dh 30 (= 15

63. Find out the wrong number in the series : 125, 106, 88, 76, 65, 58, 53
(a) 125 (bl 1086 (¢t BS (el T8 (g} 65



Dvirections ; Find out the wrong number in the series ;

G4

6.

66.

190, 166, 145, 128, 112, 100, 91

() LMD ib) 166 (el 145
1,1, 2, 6 24, 56, 720
(&) T30 (B A6 {r) 24

40960, 10240, 23560, 640, 300, 40, 10
(&) G40 b 40 {el 200

87. B4, 71, 80, 91, 104, 118, 135, 155

(2} T1 () 80 i€ 104
€8. 7, 8, 18, 57, 228, 1165, 6906

(a) 8 ib) 18 {el 57
é9. 3, 7, 15, 27. 63, 127, 255

(@) 7 ib) 15 {e) 27
70. 18, 26, 33, 48, 58, 74, 91

(a) 26 (b) 33 (¢l 48
T1. 2880, 480, 92, 24, 8, 4, 4

(a) 480 () 92 (e 24
T8, 445, 221, 109, 46, 36, 11, 4

(a) 221 {b) 100 i) 48
78. 3, 7, 15, 39, 63, 127, 255, 511

(@) T (b) 15 . &) 39
74. 1, 3, 10, 21, 64, 129, 356, 777

[ad 10 i 2 (] G4
76. 196, 169, 144, 121, 100, 80, 64

(a) 169 (b) 144 (& 121
T6. B, 12, 48, 100, 354, 768, 3072

(a) THS (b 384 (¢ 100
T7. 10, 26, 74, 218, 664, 1946, 5834

(a) 26 (b T4 ie) 218
78. 15, 16, 34, 105, 424, 2124, 12576

[a} 16 b 34 ie) 105

T9. 2807, 1400, 697, 347, 1T1. 54, 41, 20

§ ¥ 8 B

[a) 67T (b 847 e 171
B0. 32, a6, 41, 81, BS, 123, 171, 235

(&) 41 B 61 (&) B&

. 3, 4,8 2205 675 2025 810

la) 4 (b o () 225

1, & 8, 33, 148, 760, 4526

{a) Z by & (el 33

3, B. 18, 46, 100; 210, 432

{a) 8 ib) 18 i)l 46

TBO, 645, 545, 481, 440, 429, 425

{ah 645 (b 545 i) 481

1060, 510, 242, 106, 48, 18, 3

{ah 510 ib) 242 (¢l 106

idy 128
(d} &

(dy Z560
(dy 118
(d} 228
(dy B3

(d) B9

(d) 25
(di 63

(di 129
(d) 100
(d 48

(d) B54
(dh 424
idi B4

(dh 122
(d) 676
(d) 148
(d) 100
{cdh 440

(dl 46

Cuantitative  Aptitude

{e) 112
{e) 2
{el 10240
{el 135
{8 1165
(o) 127
(&) 74
(e 4
e 11
(e 127
{el 356
{8 80
e 12
{e) 1948
(e 2124
(el 41
(= 171
(g 2025
(el TAO
el 210
(= 428

e 16



Cwdd Man Oul and Series 653

86 5, 8, 20, 42, 124, 246, 736

(a) & (B 20 (c) 42 {dh 124 (& 248

87. 4.3, 6. 15, 525, 1575, 630
(=) 3 (b & {ch 15 {dy 52.5 (el 1575

B8, B84, 440, 216, 104, 48, 22, 6
(a) 4410 [l 214 ich 104 {dh 48 Lo 22

B8, 4, 5, 15, 45 201, 1011, 5073
(a) & (b 15 et 48 {d} 201 i@ 1011

ANSWERS
1 idy & (e 4 la 4 (b)) 6.{(a) & T.(B B8 (g 8 (o

0./ 110k 12 (M 18 (a) 4. {k 15 (&h 16 (& 17 (b 18 (d
18, (¢b 2000 2L (B 22 (&) 23.{( 24 {dh 25 (a) 28 (a) 27 (ch
28, (a) 29.(a) 30. (B 3L (K 32 (a) 33 (b WM (d 36 (c) 386 (c
a7. (b 88. (b} 39 (e 40. ()i 41 (b 42 (2) 48 (0 44 (B} 46 (a)
46. () 47. () 48 (b 49 (¢) 60.(s) BL (g B2 (b 53.(b B (W
55. (b) 56. (b} &7. () OG8. (b) &68. () 60.(d 61 (a8 62 (d 63 (d
64 (d) B6.(b) 66 (c) 67.(4 68.(d 69.(c T0.(b 7L (B T2 (g
8. ) (0 To (¢ T8 (00 T7.(dt TB (&l 79. (b} 80.{(a) BL (a)
BZ. (¢ 83. (b) B4 () BE (¢ 86 (b BT.(d) 88 (8 BB, (&)

e e e e o =i e NS, . A S S S S S S i I Fil - e A T

Each of the numbers cxcept 12, iz a prime nembor,

Each of the numbers except 21, iz an even number.

Each aof the numbers excepl 14, is an odd number.

Each of the given numbers execept 23, iz & perfect square.

Each of the numbers except 23, is a multiple of 3.

Each of the numbers except 21, 15 a prime number,

Each of the numbers except T2, is a perfect square.

Each of the numbers except 54, if a multiple of 5.

The pattern is 12, 22, 32 42 52, 82 72 Bul, instead of 57, it 12 20, which iz to be turned
ot

The pattern iz 2%, 3%, 47, 57 67, 71 But. 100 iz not a perfeet cuba.

The pattern is 1%, 12+ 22 12 + 22 + 32 12 4 2% + 3 4 4% 1% + 22 4+ 3% + 4% + B,
1% + 2% + 3% + 4% + 5% + 6% But, 50 is not of this pattern.

12, In each number except 427, the middle digit is the sum of the other two.

13. In each number except 751, the difference of third and first digit is the middle one.
14. ln each number exeept 383, the preduct af first and third digitas iz the middle ona.
156, The pattern is »* + 1, where x= 1, 2, 3, 4, 5, 6, 7, 8 eic. But, 84 is out of pattern.
18. The patiern is »* + 3, where x = 4, 5, 6, 7, &, 9 etc. But, 102 iz out of pattern.

17. Sum of the digits in each number, except 324 is 10

18. Pattern is 1st » Znd = 3rd; 2nd = 3rd = dth: 3rd x dth = 5th.

But, 4th = oth = 50 = 500 = 25000 # B0 = 8th.

L R
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Quantitative Aptitude

Pnd = (18t & 1% 3rd = (2nd + 2k dith = (3rd :!-':l; S5th = {dth + 4}

But, 18 = fth + 5th + 5= 14 + & = 19,

Each number except 279 i a multiple of 11.

The terms are alternately multiplied by 1.5 and divided by 3. However, 18.5 doez not
sakisly it

Alternately 23 is added and 17 is subtracted from the termsz. So, 634 is wrong.
The terms are succesgively divided by 12, 10, 8, 6, ... el So, 24 13 wreng.

The numbers are 13, 23, 33, 47 ete, So, 124 is wrong; it must have been 5% fe, 125,
Terma at odd places are 5, 6, 7, B elc, and each term at éven place is 16,

5o, ¥ is wrong.

The difference betwesn two sucesssive lerms from the beginning are 7, 5, 7, 5, 7, 6.
Su, 40 1w wrong.

The mumbers are 7> & B« 8, 9% 10, 10 « 11, 11 % 12, 12 » 13 Ba, 160 i wrong
Gio on adding 5, 8, 11, 14, 17, 20,

B0, the number 47 i5 wrong and must be replaced by 46.

The numbers are squares of odd natural numbers, starting from & upto 15,

S0, 36 15 wrong.

Add 1%, 22 3% 4% 5l G 8o, 91 is wrong.

Bubtract 1, 3, 5, 7, 9, 11 from succeszive numbers, Bo, 34 iz wrong.

Bubtract 20, 25, 30, &5, 40, 45 from successive numbera, So, 0 i3 wrong,

Each number iz a composite aumber except 11

Prime numbers 2, 3,5, 7, 11, 13 are e be added successively. 5o, 165 iz wrong
Each number is the square of a composite number except 190,

Prime numbers 2, 3, 5, 7, 11, 13 have successively been subtracted.

Sg, 100 is wrong. It must be (108 = 11) ie, 87,

The pattern s 1 x 3, 2 x5, 3% 7,4 x 9, 5x 11,6 x 13, 7 x 15 elc

[double the number and add 1 to it, to get the next number Se, 160 is wrong.
Alternately, we add 4 and double the mest.

o, 132 is wrong. It must be (B3 x 2) ie, 136

The numbers are cubes of primes ie, 29, 33, 59, 7, 119, Clearly, none is wrong.

. Bach number is the preceding number multiplied by - 2.

aa, the required nomber s = 128

MNumbers are alternately multiplied by 2 and inecreased by 3.

Ha, the miszsing aumber = 61 = 2 = 122

Numbers are 1%, 2%, 3%, 42, 5%, 6%, 7%, S0, the next number is 8% = 64.
Numbers are 1%, 22 3% 4% 5% 6% Bo, the missing number is 77 = 343,

‘Mumberas are all primes. The next prime s 43,

Each number is twice the preceding one with 1 sdded or subdracted alternstely
S0, the next number is (2 * 261 + 1) = 523

There are two series, beginning respectively with 3 and 7. In cne 3 15 added and in
anather Z iz cublrarted. The next mumber is 1 — 2 =2 — 1.

Each number is double the preceding one plus 1.

So, the next number is (366 x 2) + 1 = 511,

Thepattern is 1= 2, 2x 3, 3xd d x5 5x66x7 T b
So, the next number is 8 « 9 = T2,

Numbers are alternately multiplied by 3 and divided by 2.
Sa, the nexl aumber = 64 + 2 = 27



Odd Man Dut and Series 655

61. Bach number is 15 multiplied by a prime number fe, 15 ¥ 11, 16 = 13, 16 = 17,
15 = 18, 15 x 23. Bo, the next number iz 15 = 29 = 4356,

3. Numbers are (2% = 1), (3% = 1), (4% = 1), (5% = 1), (6% = 1), (7% - 1) ete.

Bo, the next namber is (8% = 1) = (512 = 1) = 511

CGo on multiplying the given numbers by 2, 3, 4, 8, 6. So, the correct next number is 1440,

There are two series (8, 11, 14, 17, 20} and (7, 12, 17, 22) increasing by 3 and 5

rspeclivily

There are two series (10, 13, 16, 19) and (5, 10, 20, 40), one increasing by 3 and the

other multiphied by 2.

Each previous number is multiplied by 2.

Alernately, we add 5 and subtract 7.

Alternately, we add 3 and subiract 1.

Becond number is one more than twice the first: third number iz one less than bwice
the second; fourth number is one more than twics the third: Gifth number is onoe less
than the fourth. Therefore, the sixth sumber is one more than Lwice the fth.

Sa, the missing number iz 75,

80. The difference between consécutive terme are respectively 5, 'J' 5,11 and 13
Ea, 3 is a wrong sumber,

BL 2=(1 ¢ 1 Sm (2% + 1) 28 = (37 + 1); 65 = (47 + 1); 125 = (6% + 1) 216 » (8% + 1)
and 344 = (7" + 1) So, 216 i= a wrong number

62. Multiply each term hy 3 o obtain the next terss. Honee, 30 is a wrong number

63. Ge on subtracting prime numbers, 19, 17, 13, 11, 7, § from the numbers to get the next
number. So, B3 is wrong.

64. Go on subtracting 24, 21, 18, 15, 12, 9 from the numbers to get the next number
Clearly, 128 is wrong.

§6. Go on multiplving with 1, 2, 3, 4, 5§, & to get the next number. So, 96 is wrong.

66. Go on dividing by 4 to get the nexi number. So, 200 is wrong.

B87. Oo on adding 7,9, 11, 13, 15, 17, 19 respectively to obtain the next number,
So, 135 i5 wrong.

68. Let the given numbors be A, B, C, D, E, F. G. Then,
A A l,Bx?*E.{!tﬂi-a.I]:-c-l.hl,l':nﬁ+5,Fxﬁ+ﬁ|mtheraquirainumhars.
Clearly, 228 is wrung,

68. Go om multiplying the number by 2 and adding 1 o it to get the next number.
B0, 27 is wrong

70. Go on adding 7, 9, 11, 13, 15, 17 respectively to obinin the next nomber.
S0, 33 is wrong.

TL Go on dividing by 6, 5, 4, 3, 2, 1 respectively to obtain the mext nimber
lﬂltﬂﬂ}", 82 s wrong,

72. Go on subtracting 3 and dividing the result by 2 te oblain the next number.
Clearly, 46 is wrong.

78. Go on multiplying 2 and adding 1 to get the next number. So, 39 is wrong.

T4 Ax2+41,Bx3+1,Cx2+1,Dx3+1 and so an. Se, 356 is wrong.

76. Numbers must be (1472, (137, (11, (1012, (972, (8). So, AO is wrong.

T6. Each even term of the series is obtained by multiplying the previous term by 2.
Znd term = {Ist term) < 22 B x 2 = 12 4th term = (3rd term) = 2 = 48 » 2 = 96
Gth term = (5th term) x 2 = 3584 = 2 = 75B,

dth term should be 86 instead of 100,

858 & FB



Cuantiative Aptiude

. 2nd torm = (lst term} = 3 -4 = 10 = 3 = 4 = 25
rd term = (Ind ferm) = 3 — 4 = 28 = 3 - 4 = Td;
4th term » (Ird term) = 3 — 4 = T4 = 3 = 4 = Z18;
Gth term = (dih term) = 3 — 4 = 218 = 3 = 4 = &3,
. 5th term must be 6560 instead of 634,
o nd erm =l terml = 1 =1 =15= 1= 1= 16
3rd term = (Ind torm) = 2 & 2 = 16 = 2 + 3 = Bd;
dth term = (9rd ferm) = 3 + 3 =34 = 3 4+ 3 = 105;
5ith term = (4th term} x 4 + 4 = 105 = 4 + 4 = 424;
Bth term = (5th terml = 5 + 5 = 425 = 5 + 5 = 2125,
Gth torm should be 2125 instend of 2124,
. Tih term = (Bth term) = 3 ¢+ 1 =« 30 x 2 + 1 = 415
Bth term = (Tth term) < 2 + 2 = 4]l x 2 + 2 = Bd:
Gth torm = (Bth term) x 2 = 3 =84 x 2+ 3 = 171;
dth term = (5th term) « 2 + 4 = 171 = 2 + 4 = 3486,
4th term should be 346 instead of 347.
i‘.ndtn!rm-[lﬂimrm]-l2’2-3244rﬂ&ﬂ:ﬂm=lﬂﬂdtﬂﬂﬁ+ﬂznﬂﬁ+9-4ﬁ;
4th torm = (3rd term) + 42 = 45 + 16 = BL: 5th term = (4th term) + 5 = 61 + 25 = B
Ard term ghould be 45 metead of 41.
There are two sequences (3, 5, 67.5, B10) and (4, 225, 202.5).

Pattern is ; (1et term = 30, (2nd berm 751, (3nd term = 12 for the first sequence and
{1zt term = 5), (2nd term = 9} and so0 on for Lthe seeond sequence.

ond term = (Ist term * 1 + 18 = 1= 1+12=2;

Ard term = (2nd term x 2+ )= 2 2 4+ 28 - E;

dthterm =(3rd term =~ 3 + 3% = 8 x § + 3° = 33;

Bth term = (4th term = 4 + 471 = 33 = 4 + 47 = 145

6th term = (5th tarm = & + 52 = 148 x § + 5 - THA.
TED is wrong.

 Mndterm = (Ist term x 2+ 2} =3 x 2+ 2 = B;

Srd term = (Znd term = 2 4+ d) = 8 x 2 + 4 = 20

4th term = (3rd term = 2 + 6) = 20 x 2 + 6 = 46,

Gthterm=ldthterm =2 + 8 =46 = 2 1+ 8 = 100 and se on,
18 5 wroog,

Ond term = 18t term — (12)° = TRO — 144 = B45;

ird term = (2nd term) — (10F = 645 - 100 = G45;

Ath term = (3rd term) — (81 = 545 — 64 = 451,

Sth term = (4th term) = (6F = 481 - 36 = 440.

440 is wrong.
. 2nd term = (1st term 39112;[%;E1--519;
ard term = (2nd t-u':n-EE]+2-n[-M'-:'2 .ﬂ‘] - 242

i -
dth term = (3rd term-28+2 = 'l,im:.: ﬂ}- 110,

106 is wrong.



Ddd Man Dul and Serieg BST

B6. 2nd term = (st term x 2 - 21 = (5% 2 - Y =
Grd term = (2nd term x 3 - 2) = (8 x 3 - 2) = 22
dth term = (3rd term = 2 - 2) = (22 x 2 - 3) = 43;
Oth term = (dth term x 3 = 2} = (42 x 3 = 2) = 124 and so on.
< 20 15 wrong.

BT. hdtem={1:r.trnnx1.5]-:21l.ﬁ-a;ardnrm-{indm::m-ﬁxﬁnﬂa
dth term = (3rd term x 25) = 6 x 2.5 = 15; 5th term = (4th term x 3) = 15 x 3 = 45.

525 18 wrong.
[mna-m E:J ]’553 E} 440;

B8. Znd term =

adm_[zndtem E} (-Hi}- ] 2185
#th ttrn:L:[ard “;”" E] [fj-h;ﬂ}-.uw
4th term - & 104 = &7 _
Emm"{ 2 ] [ 2 J"B’
Eﬁunn=(5u't”m_a]-fﬂ‘a]-m
: 2 \
Ii:isl.rrnn.g.

BY. Znd term = {Ist term x 1+ 2} = (4 x 1 + 2) = &;
drdterm = (2nd term x 2 + A = (B x 2 + 3) = 15
4thhem—fﬁrdt¢rmxa-+4]-11533+ﬂ=l-9
Sth term = (4th term = 4 + 5) = (49 x 4 + 5) = 210 and 30 on.
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